ggbbobuoooob oogoboob

1] 0000000000000 00OOO0o0ooOoOOoooOOooooooOoO
guoodoooooobbbbood

(1) F, = kyO F, = 2kz

(2) F, = —kzO F, = —ky

2] 0 FOoOoOooooooOOOrotF =0000000000

[3] OOOOOODODO0DO0DO0ODOOoOoOoOOO

1 1
—mvt+ Zkz’ = F E = const.
2 2
O0000000+¢t0000 z(¢y) 00000 0000v=20000000000

gbobobooooobot

[4] OOD0O0OO0DO0O0OOO0OO0O0OOO0O0ODOO0OOOO0OOOOOOOOOOO
gbobbobbbooodgbbboooobbbuoooobbboooobobod

[5] U(r)=Ae ™ /r0(xk>0)000000000000 Yukawa 0000000
0000r00000000000000000000000000000000
0000000000000000000000000000 FOoooooooo
00000000000 —f.F4000000000000000000000

oogf

2000000000000 0000000O0O0O0OD00o00On
3 0000000000000 () = Asin(wt +a) 0000
[4 r= (22 +y*+ 2220000



